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ljBfyL{ ;]6 -v_ 

lgbfgfTds k/LIff 

 

sIff M & ljifo M lj1fg tyf k|ljlw 

 

Group 'A' 

tnsf k|Zgsf] pko'St ljsNkdf l7s -√_ lrx\g nufpg'xf];\ .  Tick -√_ the correct alternative for the 

given questions.            (151=15) 

1. tnsf dWo] s'g pks/0fdf OG6/g]6sf] k|of]u x'G5 < Which  of the following devices  uses  the internet ?  

(A) sDKo'6/ Computer    (B) 6]lnkmf]g Telephone 

(C) lsaf]8{ Key board     (D) lr7L  Letter 

2= lbPsf pks/0fx¿sf] ;d"xdf ljB'tLo ;~rf/sf ;fwgx¿sf] ;d"x s'g xf] < Which is the group of 

electronic communication devices from the given group of equipment ?  

(A) sDKo'6/, 6]lnlehg, df]afOn, klqsf (Computer, Television, Mobile phone, News Paper)   

(B)  sDKo'6/, 6]lnlehg, df]afOn, 6]lnkmf]g (Computer, Television, Mobile phone, Telephone) 

(C) sDKo'6/, ;"rgf af]8{, df]afOn, 6]lnkmf]g (Computer, Notice board, Mobile phone, Telephone)  

(D) sDKo'6/, 6]lnlehg, ;"rgf af]8{, klqsf (Computer, Television, Notice board, News Paper) 

 

3. tnsf dWo] pmhf{sf] ;|f]t s'g xf] < Which of the following is the source of energy?  

(A) Dff6f] Soil (B) r6\6fg Rock 

(C) sf]Onf Coal (D)  v/fgL Ash 
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4= tnsf dWo] km"n km'Ng] la?jf s'g xf] < Which of the following is  the flowering plant? 

(A)   (B)  (C)  (D)  

 

5.  kmf]S;f]n] h:t} sfo{ ug]{ ;d'b|L 3f]8fdf EfPsf] ;f; km]g]{ cª\u s'g xf]\ < Which organ for breathing in 

sea horse works as lung ?  

(A) 5fnf Skin  (B) Zjf;gnL Trachea 

 (C) luN; Gills  (D) kmf]S;f] Lungs 

 

6. lbOPsf] lrqdf s'g hLjg k|lj|mof b]vfOPsf] 5 < Which life process is 

shown in the given picture?    

  (A) pT:j]bg Transpiration                  (B) Zjf;k|Zjf; Respiration 

(C) k|sfz ;+Zn]if0f Photosynthesis      (D) kl/jxg Transportation  

 

 

7. lbOPsf dWo] b'/Lsf] SI PsfO s'g xf] < Which of the following is the SI unit of Length?    

(A) lsnf]u|fd Kilogram                                     (B) ld6/ Meter 

(C) ;]lG6ld6/ Centimeter                                  (D) lsnf]ld6/ Kilometer 

8. lrqdf Pp6f laGb'af6 csf]{ laGb'df hfg] tLgcf]6f af6f] P, Q / R  

b]vfOPsf] 5 . tLdWo] s'gn] ult hgfpF5 < In the given figure 

three paths P, Q and R are shown to reach from one point to 

another point. Which of them shows velocity? 

(A) P                                          (B) Q 

(C) ] R                                         (D) P and R 
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9. lrqdf k|sfz k/fj{tg;DaGwL lj|mofsnfk b]vfOPsf] 5 . of] lj|mofsnfkaf6 s] lgisif{ lgsfNg ;lsG5 < 

In the given figures, experiment related to the reflection of light is shown. What conclusion can be 

drawn from the experiments? 

 

(A) v;|f] ;txdf k|sfz k|;f/0f x'Fbf clgoldt k/fjt{g x'G5 . 
 There is irregular reflection on rough surface. 

(B) lrNnf] ;txdf k|sfz k|;f/0f x'Fbf lgoldt k/fjt{g x'G5 . 
 There is regular reflection on smooth surface. 

(C) k|sfzsf] k/fjt{gdf ;txn] k|efj kfb}{g .  
                   Surface does not affect the reflection of light. 

(D) v;|f] ;txdf k/fjt{g x'Fbf j:t' rDsG5 .  

Object shine while reflecting from rough surface. 

10.  lbOPsf] s'g ;d"x hGt' sf]ifdf kfOg] cjojsf] ;d"x xf] < Which  of the given groups is  the group of 

animal cell organelles ?  

(A) dfO6f]sf]lG8«of, Knfl:68, ;]G6«f];f]d, Eofs'n Mitochondria, Plastid, Centrosome, Vacuole 

(B) dfO6f]sf]lG8«of, /fOaf];f]d, ;]G6«f];f]d, Eofs'n Mitochondria, Ribosome, Centrosome, Vacuole 

(C) dfO6f]sf]lG8«of, Knfl:68, ;]G6«f];f]d, /fOaf];f]d  Mitochondria, Plastid, Centrosome, Ribosome 

(D) dfO6f]sf]lG8«of, Knfl:68, Eofs'n, /fOaf];f]d  Mitochondria, Plastid, Vacuole 

Ribosome 

11. k|of]ufTds sfo{sf] clen]vLs/0f s;/L /flvG5 < How is record of practical work kept? 

(A) k|ltj]bg tof/ u/]/  Preparing report 

(B) kmf]6f] lvr]/ Clicking photo 

(C) k|of]ufTds sfo{sf] ljZn]if0f u/]/ Analysing practical work. 

(D) tYofª\ssf] ;ª\sng u/]/ Collecting data  

 

12. hLjfjz]if kfOg] r6\6fg s'g xf] < Which rock does contain fossil ? 

(A) kq] r6\6fg sedimentary rock  

(B)  cfUg]o r6\6fg  Igneous rock 

(C) clA;l8og r6\6fg Obsidian Rock 

(D ) u|]gfO6  Granite 
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13.  lbOPsf dWo] s'g sf/0fn] sfutLnfO{ cDnLo ju{df /flvPsf] xf] < Which of the following is the 

reason that lemon is kept in acidic group? 

(A)  o;sf] af]j|mf lttf] ePsfn] . due to bitterness of its cover.  

(B) o;sf] kmn /l;nf] ePsfn] . Due to its  juicy fruit. 

(C) o;sf] kmn cldnf] ePsfn] . Due to its sour fruit. 

(D) o;df w]/} lap ePsfn] .  Due to multiple seeds in it.  

 

14.  uf]ne]8f / s/]nfsf] h';dWo] s'gdf cDnLo / s'gdf Iff/Lo u'0f 5 egL k/LIf0f ug{ ldyfOn c/]Gh 

k|of]u ul/of] . tnsf dWo] s'g glthfn] k/LIf0fsf] ;xL glthf hgfpF5 <   Methyl orange is used to 

check which of tomato and  bitter guard has acidic property and basic property? Which of the following 

results shows the correct result of testing?  

 (A) uf]ne]8fsf] /; /ftf] /ª t/ s/]nfsf] /; kx]Fnf] /ªdf kl/jt{g eof] Tomato juice turn to red colour but 

bitter guard juice turn to yellow                     

 (B) uf]ne]8fsf] /;df /ª kl/jt{g ePg t/ s/]nfsf] /;df kx]Fnf] /ª kl/jt{g eof] Tomato juice does not 

change colour but bitter guard juice turn yellow       

(C) uf]ne]8fsf] /;df /ftf] /ª t/ s/]nfsf] /;df /ª kl/jt{g ePg Tomato juice turn pink but bitter guard 

does not change  

 (D) uf]ne]8fsf] /;df kx]Fnf] /ª t/ s/]nfsf] /;df /ª kl/jt{g ePg Tomato juice turn yellow but bitter 

guard juice does not change colour  
 

15. kf/df0fljs ;ª\Vof 7 x'g] tŒjsf] kf/df0fljs ;+/rgf s'g xf] < Which is the atomic structure of 

element with atomic number 7 ?  

 

(A) W  

(B) X 

(C) Y  

(D) Z 
W  X   Y  Z 
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Group B 

            tnsf k|Zgx¿sf] pQ/ lbg'xf];\ .   Answer the following questions. 

16. lbPsf k|ltj]bg n]vgsf r/0fx¿nfO{ ;xL j|mddf ldnfP/ n]Vg'xf];\ . Arrange the given steps of report 

writing in  a correct order.      (1) 

             

 

…………………………………………………………………………………………………………………

…………………………………………………………………………………………… 

17. Pp6f lunf; / yfndf ;dfg cfotgdf kfgL /fv]/ Ps} 7fpFdf 3fddf /fVbf s'g ef8fsf] kfgL l56f] 

tfT5 <  Which water container will heat faster if same volume of water in a glass and a dinner plate is  

kept in sun light of same place ?                  (1)                                      

…………………………………………………………………………………………………………………

…………………………………………………………………………………………… 

18.  d;sf] la?jf jiff{ofddf /fd|f];Fu k}mlnG5 t/ hf8f] ofddf ;'s]/ hfG5 . o:tf] x'g'sf] Pp6f sf/0f 

n]Vg'xf];\ . The Moss plant flourish during rainy season but dries during winter season, why? Write a 

reason for this.        (1) 

……………………………………………………………………………………………………………

……………………………………………………………………………………… 

19. rp/df /x]sf ;a} xl/of la?jfx¿ x6fpFbf kfl/l:ylts k4ltdf s:tf] c;/ k5{ < (1) What impact 

can be seen in an ecosystem if all green plants are removed from lawn?  

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

………………………………………………………… 

lgisif{ (Conclusion), p2]Zo (Objective),  glthf (Result), ljlw (Procedure) 
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20. lrqdf lbOPsf] ;/n oGqsf] gfd n]Vg'xf];\ . Write the name of the simple machine shown in the 

picture.                         (1)  

            

   

 

lrqsf] gfd M …………………………… 

Name of the picture.  …………………… 

 

21. lrqdf b]vfOPsf] ;]nsf] Pp6f 5]psf] tf/ x6fpFbf lsnfdf hf]l8Psf lkgx¿df s:tf] kl/jt{g b]lvG5 

<  What changes will be seen on pins connected to nail if the wire is disconnected from one end of the 

cell ?      (1) 

 

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

………………………………………………………… 

 

22.  kfgL / cNsf]xnsf] ld>0faf6 z'4 cNsf]xn lgsfNg cf;jfg ljlwsf] k|of]u ug'{sf] sf/0f s] xf] < 

What is the reason for using distillation process to separate alcohol from the mixture of water and alcohol? 

       (1) 

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

………………………………………………………… 
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23. Ps hgfn] cfˆgf] 3/df /x]sf cfNd'lgodsf k'/fgf efF8fx¿ kufn]/ d"lt{ agfpg nufpg'eof] . o;n] 

7f]; kmf]xf]/d}nfsf] Joj:yfkgdf k|of]u x'g] s'g ljlwnfO{ hgfpF5 < A person has given all old aluminium 

utensils to prepare statues. Which method of solid waste management procedure is this?    

   (1) 

…………………………………………………………………………………………………………………

………………………………………………………………………………………………………………… 

24. k"mndf /x]sf] efn] k|hgg\ cª\usf] gfd n]Vg'xf];\ . Write the male reproductive organ of flower?  

         (1) 

…………………………………………………………………………………………………………………

………………………………………………………………………………………………………………… 

25. 6«fG;e;{ t/ª\u / nª\uLRo'l8gn t/ª\ular Pp6f leGgtf n]Vg'xf];\ . Write a difference between 

Transverse wave and longitudinal wave.     (1) 

…………………………………………………………………………………………………………………

………………………………………………………………………………………………………………… 


